zo [5
4] ROMOGIZEZEI,
() &xW0mONEAY, KX[ATMONEBYHY) 7. ARALFIBRRHME > TH D

Z)# A DR X (FEFRFMT T 5%

HIED 2 DY TBETRE L 20 19K
DEIEENTNEAM TS 5%

Y=y
Et b TIC8H, PEAHPFIEBICEVNDVWTHLBOWITFTTIC 6#H1H) E L1k

(2) #R20mM THEATVAPIEHNHKIELEY) £7. KBHTH L 20 HKIC, FIEDEFRAST

CHIGLR )R E L. KABORILINR

2 <
) & ‘ )Zéﬁﬁﬂw s Eut SEDE
a) (& e A, 50\;%%/%@ 20 <26 =520 cm)
6> Lo &P, 520m
F‘rz A g Ea<hz Kk —
. 400 w [e <t M/ [ [t
A L EPeSge | A ot
' EPeEan$ s, =3 FT : R _L;[ﬂ ), 20 (@ )5 520w Trazs
Cﬁtuxx 520% 2= 260 (w)
’ﬁ'ﬁ}—ﬁj 1T 3ds FoT 260x3="f0(wm)
(@2] AteBi= an b Sl 0
o Bt Bmﬁ—ﬁ‘.i%ﬁg Ei'mﬁz 3. ’?’E}.’;‘;G—E;
Pt A 9l 4 Rea. e 18 5557,
: [Botr> s2om Lm -
) N "
! ' .‘§.F?>"'£,R % -
e (, ‘HP wA —*}II E_IE@\U-S. . -E'I (Wp 8
“FF{)“‘JEF(: LE“:’ ca = lé‘?F‘V - M&owm £127“ox l‘i= 380 un
A“?ﬁt'&@#“/’xml BQEI.&@?VZW\\/_ LE?T;Z. 7(|$¢|Etr¢ ;201—3?0——’79-0
T, | JEn = (20 (m)
Al £y  L4oi(xry)=8
e "CD /= 5 o E o -
Xtd=6478 =80(~/4%) Rk .E
,Hrod FiFafs - (26 w |
25 gaot(z-9y=16 o
~ = L = W/
LZ’» 6‘(-07 f(:b,.( 4::11-) ﬂij-LL:I? /“:m::(aoom
Do s 4eiE> xﬂgomﬁ:z-—‘io (w/9y) éax/azgoa%(ooo =26 (kn/8% )
X K4 ? j?" AaFx (65 & Fps0 oy
1{ s

Hi*f;leé l‘mJ




